
Lesson 9
Multilayer Perceptron



What is Multilayer Perceptron Neural Network?
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For a given node I, the perceptron is defined as weighted summation of the incoming data from the 
nodes of the previous layer.

Multilayer Perceptron
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Multilayer Perceptron

4

Input Layer Hidden Layer Output Layer

W11

W12

W34

.

.

V11

V12

V42

.

.

x1

x2

x3

y1

y2

Activation
Function

i1

i2

i3

h1



Forward Pass

5

Input Layer Hidden Layer Output Layer

.

.

0.1

0.2

0.15

.

.
y1

y2

X1=1

X2=0

X3=1

0.2

0.5

0.25

1

0

1

Input Vector



Forward Pass
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Linear Activation function
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Forward Pass
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Forward Pass
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Forward Pass
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Weight Matrix
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Forward Pass
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Forward Pass
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Forward Pass
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Forward Pass
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Forward Pass
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ത𝑦𝑇 = 𝑆𝑖𝑔𝑚𝑜𝑖𝑑( 𝑆𝑖𝑔𝑚𝑜𝑖𝑑 ҧ𝑥𝑇𝑊 .𝑉 )


